M-A2-2-2_Lesson 2 Exit Ticket KEY

Use Algebra TilesTM, draw a picture, or use the formula to convert the following equations from standard form to vertex form. Then check to make sure your answer is correct by converting your vertex form equation back into standard form. Show your work.

1.  y = x2 + 12x + 150



y = 
(x + 6)2 +114

vertex form



(x + 6)(x + 6) + 114




x2 + 6x + 6x + 36 + 114




x2 + 12x + 150
2.  y = x2 − 4x + 3



y =
(x – 2)2 -1

vertex form



(x – 2)(x – 2) – 1




x2 – 2x – 2x +4 –1




x2 – 4x + 3 
3.  y = x2 + 11x − 7 



y =
(x + 5.5)2 – 37.25
vertex form



(x + 5.5)(x + 5.5) – 37.25




x2 + 5.5x + 5.5x + 30.25 – 37.25




x2 + 11x − 7
4.  y = x2 − x + 2



y =
(x – 0.5)2 + 1.75
vertex form




(x – 0.5)(x – 0.5) + 1.75



x2 – 0.5x – 0.5x + 0.25 + 1.75




x2  −1x + 2




x2 –x + 2
